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P = . 4×2+20×-9

a) break even points = zeros

P = - 4×2+20×-9
- 1

,

-36

a = 4 - 2)
- 18

C = q
P = . (4×2-20×+9) ac = 36

.

= -

(4×2.41/-18×+9)= - # (2×-1) - 9 (2×-1) ]
a - ( 2×-9 )( Zx - i )



P = . (2×-9×2×-1)
2×-9=0 2×-1=0

21=9 2x=l
X = 9- x I

2 z

11=4.5 71=0.5

X is the number of
games

in hundreds of

thousands
.

i. 4.5×100000= 450 000

0
.

S X loo ooo
= SO 000

The
company

breaks even if they
produce 50 °o° Cr 450008

games .

b)
* I 'm answering part c) first

because I need it to find vertex



b)
c) A. 0.si/=o.sz_4.s

× = 52

X = 2.5

fated:L:L: profit
when they produce 250,000 games.⇒(2×-9×2×-1)

P= - (2128 . 9)( 2k$ - 1)

p ... ( s . a) ( s . D

P= - ( - 4)(4)
p = 16

:
.

16 × $1 ooo ooo

=$16,000
,

000

The company makes a maximum profit
of $16

,
ooo

,

ooo when they make

.

250,000 video games .



� Identify the type of algebraic expression and the factoring 
strategies you would use to factor the expression.  Factor 
fully.

� Determine the zeros and the vertex.

� State solution to the given problem.



Pg .
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h =  
- St

#
lot +75

a) ¥ adad form /
hint

.

⇒ Sm

b) maximum → vertex

�1� Find the zeros

�2� Find the A. Os
. ( t coordinate of

vertex )
�3� Use t coordinate of vertex to det.

Max . height.

�1� h = - Set lot +75 -1
,

Is

h= - s(t2 . zt  - Is ) - is 1

-

5,3
h=  . S ( t . 5) ( tt3)

Zeros t=s
,

t  =-3



A. 0.5
.

+  =

-3+52

t=z Rock reaches
2 maximum height

£= Is
1 second after it

is thrown
.

c) in= -s(h⇒(h+3)
h= . Ki - skits )
h= - st 4)(4)
h= 80

Rock reaches a max
.

height

of 80 metres .
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